;> restart;
> f£:=t;
g:=1+t-2*t*2+t"3;

f=t
_ 2 3
i g=1+t—2¢ +¢ €))
> plot([£f,g,t=0..1],scaling=constrained) ;
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=> plot3d([£f,cos (theta) *g,sin(theta) *g],
t=0..1,theta=0..2*Pi,scaling=constrained) ;

> df:=diff (f,t);
| df =1 Q)
> dg:=diff(g,t);




i dg=1—41+37

[> A:=Int(2*Pi*g*sqrt (df*2+dg”2),t=0..1);
1

Azzj dn(1+t—2247)J2—8t+227 247 +97 dt
0

=> evalf (a) ;
7.215730156

=> plot3d([cos (theta) *f,g,sin(theta) *£f],
t=0..1, theta=0..2*Pi,scaling=constrained) ;

=> A:=Int(2*Pi*f*sqrt(df*2+dg*2) ,t=0..1);
1
A:=[2mJ2—8z+22t2—24t3+9t4 dt
20

> evalf (3) ;
3.243023901
> f:=t;
f=t

g:=\/1——f

> g:=sqrt(1-t*2);
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> plot([f,g,t=-1..1],scaling=constrained) ;

0.5 1

=> plot3d([£f,cos (theta) *g,sin(theta) *g],
t=-1..1,theta=0..2*Pi,scaling=constrained) ;




> df:=diff (f,t);

> dg:=diff (g,t) ;

t

J1 =7

=> A:=int (2*Pi*g*sqrt(df*2+dg*2) ,t=-1..1);

dg = -

A=4r
> £f:=t+sin(3*t);
g:=t*2;
f=t+sin(31)
2
g=t

=> plot([£f,g,t=-1..1],scaling=constrained) ;

(10)

an

(12)

13)



0.8-.
0.6-.
0.4-
021

-1.5 -1 -0.5 0 0.5 1 1.5

=> plot3d([£f,cos (theta) *g,sin(theta) *g],
t=-1..1,theta=0..2*Pi,scaling=constrained) ;

> df:=diff (f,t) ;
df'=1+3cos(3¢) 14)
> dg:=diff(g,t);
dg==21 (15)
> A:=Int(2*Pi*g*sqrt(dg*2+dfr2) ,t=-1..1);




1
{ A: [ 242+ (1+3cos(31))° dr (16)

Il
> evalf (a);
8.802499018 17



